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QUESTION 1

What happens when a split-brain occurs and I/O fencing is disabled?
A. All nodes are placed in jeopardy membership.

B. All service groups are autodisabled.

C. Nodes on each side of the split try to bring service group online.
D. All nodes execute a stop operation.

Correct Answer: B

QUESTION 2

Which log can an administrator review to determine why a resource failed to come online?
A. Ivar/VRTSvcs/log/vbs_state_notify.log

B. lvar/VRTSvcs/log/ProcessOnOnly_A.log

C. lvar/VRTSvcs/log/HostMonitor_A.log

D. /lvar/VRTSvcs/log/engine_A.log

Correct Answer: D

QUESTION 3

What is the impact to unsaved configuration changes in Veritas Cluster Server when an administrator stops the cluster
with a force option from the command-line interface?

A. The changes are automatically saved.

B. The changes are automatically discarded.

C. The potential corruption of the cluster configuration.
D. The changes are prompted to be discarded.

Correct Answer: D

QUESTION 4

Which requirements must an administrator meet prior to implementing an InfoScale Availability cluster that includes both
physical and virtual machines?

A. ensure all systems in the cluster have access to virtualized storage devices
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B. ensure shared storage supports SCSI-3 persistent reservations
C. ensure VMware HA VM monitoring is enabled
D. ensure the systems have access to the same shared storage devices

Correct Answer: B

QUESTION 5

An administrator has started a cluster using hastart.

Which two commands should the administrator use to determine where each service group is running? (Choose two.)
A. hasys -display

B. hasys -state

C. hastatus -sum

D. haclus -status

E. hagrp -state

Correct Answer: CE
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